Roll No:
Application No: Registered Photo Exam Day Photo

Name: e P
Exam Date: 07-Oct-2020
Exam Time: 15:00-18:00

Examination: 1. Course Code - M.A./M.Sc./M.C.A.
2. Field of Study - KOREAN (KORM)

SECTION 1 - SECTION 1

Question No.1 (Question Id - 48)
Qi x| HHoO| ol OIS N12AIAQ.

OfX et=2dE7|=d=2 2 7t351 Qo

(A) O Information Technology (Correct Answer)
(B) O Government scheme

(C) O Electronics

(D) O Detailed description

Question No.2 (Question Id - 5)
CHES 5 20|17} o Ql S D 2HA| 2.
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Question No.3 (Question Id - 79)
HIZH S0{Z L2 03 E 12 MM 2.

( )= O 252 H TE H0|AM Hof| L2 DEo| Aot Mzt ZH7-0| 271 el
L|ct.
(A) O Al
(B) O =g (Correct Answer)
(C)O A
DO g=

Question No.4 (Question Id - 46)
Che 5 7h 2| TS A2 D2NAL.

(A) KB (1)
B)Fs )
C)mux ()
D)#rE (V)

O 4% |r> [do
OF | M | bu

(A) O (A)-
(B) O (A)-
(C)O (A)-
(D) O (A)-

1), (B)-(1), (C)-(1V), (D)-(llr)
1), (B)-(1), (C)-(1V), (D)-(1)
V), (B)-(11), (C)-(1lN), (D)-(1)
I, (B)-(1), (C)-(1V), (D)-(I1) (Correct Answer)
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Question No.5 (Question Id - 40)
RIZho| SO1Z L2 HE nE2HAR.
ME OHE =5, 25, 298 71T g7t 0|2 7PP80|Lt O3 AEHS0| Z=ehE 78 3(
)o|2t:l efLCh.

(A) O ct23} 71" (Correct Answer)
(B) O stz

©)O 7=

(D) O Et237t=

Question No.6 (Question Id - 74)
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(A) O HEO9| o2 }ES}A| 8F= EHK| (Correct Answer)
(B)O HE (A ML 2 &
©) O mNYzte
D) O HE otg Al Bt& BA|
Question No.7 (Question Id - 57)
ChES D Y2 HE 124 .

Statement | : ‘&fTf’ Xt F0f = ZOtH K|, OFHX|, OtS0f| O| 2= & Ch7t LA X|SHOM S&3) 7tz 2Hd
O Ard ™oz J8{X A& L Ct.

Statement Il : X/ X717} 0] AHES 1930 HCHO| A RIX| $1AIS AR QI A Zhof M Z 7

(A) O Both Statement | and Il are true.

(B) O Both Statement I and Il are false.

(C) O Statement | is true, but Statement Il is false. (Correct Answer)
(D) O Statement Il is true, but Statement | is false.

Question No.8 (Question Id - 10)
BE X HEVO X2z U2 A2 NEHAL.

By ' SHLEDE o™ Ao 0|4 2 ZO0|EH = o] & AEFO|C)
(A) O #to}7}= (Correct Answer)
(B) O 3oj=
(C)O ge=
DO &%=

Question No.9 (Question Id - 35)
CHe g om Y%L ©2 12MAL.

Statement | : [[| = AIEO| EfOIL SHE ==
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Statement Il : [[|= 127} X| 7} QIC}.

(A) O Both Statement | and Il are true. (Correct Answer)
(B) O Both Statement I and Il are false.

(C) O Statement | is true, but Statement Il is false.

(D) O sStatement Il is true, but Statement | is false.

Question No.10 (Question Id - 28)
uIzhol| S0{Z 7hE w2 Eg NEHAL.

Mk ( ), B ( ). B7I( )

o

(A) O ZA

(B) O AL

(C) O & (Correct Answer)
DO =

Question No.11 (Question Id - 55)

= o cie
HIZho| S0{Z L2 HE DEHAR.




Question No.12 (Question Id - 14)

CHS & 7t 27l st A2 n2HA .

DIEERRE

BIEEE IO Y
©) |zim= | () o4
D) |2 (V) |24

(A) O (A)-(I), (B)-(1), (C)-(IV), (D)-(111)
B) O (A)-(1n), (B)-(1), (C)-(IV), (D)-(ll) (Correct Answer)
(C) O (A)-(IV), (B)-(IN), (C)-(I), (D)-(1)
(D) O (A)-(1), (B)-(1), (C)-(IN), (D)-(IV)

Question No.13 (Question Id - 37)
che 5 7K Wl 9ES 22 D2 YN L.

A=z, g, 2 [0 [2E =0
BEE MIEEEH
(©)| 2= ME

(D) &+ (V)[a1% oz

(A) O (A)X-(I), (B)-(1), (C)-(IV), (D)-(1IN)
(B) O (A)-(ln), (B)~(1V), (C)-(I), (D)-(Il) (Correct Answer)
(C) O (AX-(IV), (B)-(IN), (C)-(lin), (D)-(1)
(D) O (A)-(ln), (B)-(1), (C)-(IN), (D)-(IV)

Question No.14 (Question Id - 65)

2 WHEI 2 AS DEHA L.

2 25 IUHEE M= FRES0 =1 UL LU ILHE2 ES 2
Moz Hof &2 X0 7|20 AL 28 SLE2 2=z 7t

2[X| Q4 B2 20| Xf2tA otCh SHElS o ZEMO = Bioh FLt
=22 LB ILEEC Y7L =0 &3] 28 FLE2 k2t L=

S L HIELRIO| BO] S0 AOM T = 2| =0 ZLt

(A)O w2t ILHES siglg ¢ X2t

(B)O == ZLtEe A2M M2 oM 7|2Lt

€O L2t zEe £2 ZUELLC O|2 3|50 SCt.

(D) O =2 ZLIE2LS 2 ZL}20| H|s] FL7I7} BiCt. (Correct Answer)

Question No.15 (Question Id - 19)
Chg BIXfOjo| Qare £2 DENAL,

I

(A) O Visit

(B) O Direction (Correct Answer)
(C) O Fragrance

(D) O Tendency

Question No.16 (Question Id - 6)
CtS 3 20|7L H|xT S D2HA 2.

i
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Il

(A) O w3\t

(B) O of&@x| gct

(C) O =xt3s}Ct (Correct Answer)
(D) O #ict

Question No.17 (Question Id - 63)

CHEE =MO2E A HESt XS n2HA .

(A)  O|HSZ BHE A= E-O| O £5] ZCt.

(B)  20[Xt= BHA 7HX| SO HEt 2047 O] SOt




(C)  EO| LtX| A ot HiE S WA St= 20t7t A0 A 0| L.
(D) = 2O RO K& AFZHOA YSEO| LHA ot= HlE =F0| &
C}.

(A) O (A)-(D)-(C)-(B)

(B) O (A)-(C)-(D)-(B)

(C) O (B)-(A)-(C) - (D) (Correct Answer)

(D) O (B)-(C)-(A)-(D)

Question No.18 (Question Id - 51)
ChEol ¥H2 HYS n=2HA L.

e

(A) O Dragon-fly

(B) O Wild goose

(C) O Frog

(D) O Sleepy head (Correct Answer)

Question No.19 (Question Id - 25)

HiZho| S0{Z 71 L2 BHE 12HA 2.
‘Y CIH 0| = Q1440 ZtTt= ( ) &L Ct
(A) O z|EHM
B)O &3z
(C) O xfi2tAl (Correct Answer)
(D) O %Al

Question No.20 (Question Id - 49)

UE § SOl Ynre Holg nEiAe.

AIEHY = F &0 A of2f kK| 2|3l S ot QAL

(A) O Civic group, choices

(B) O Immigrant group, benefits

(C) O Civic group, benefits (Correct Answer)

(D) O Immigrant group, choices

Question No.21 (Question Id - 72)
LSS =MOZE XA B BT XS DEHAM L.

(A)  ESHI|E 7}ZHO| AbM HE HI& & M7 EC,

(B) ATt 2sd+EL RUES TE= AL
(C) ZS2E g2 WEESh= YW= A2 7kX[7F ALt
(D) Zaj~E ¥g AXZ sjH SESS BED JhE T At
(A) O (C)-(B)-(D)-(A) (Correct Answer)

(B) O (C)-(D)-(B)-(A)

(C)O (D)-(A)-(B)-(C)

(Bd) O (D)-(B)-(A)-(C)

Question No.22 (Question Id - 83)

HiZho| S0{Z L2 HE DnEHAR.

( ) 2 30 AX[E &2 A7 7| 2YL

A O uraH

(B) O =ux

(C©)O ZxtH

(D) O =& H (Correct Answer)

Question No.23 (Question Id - 29)
HIZHo| S0{Z 71 Y2 BHE 124N 2.
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7| 4= (Correct Answer)
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Question No.24 (Question Id - 94)
Cl2S M2 WA Hjgst HE

20 XE

(A)

A
D
B
Cc

(A) O (A)(
(B) O (D)
€O ()(D
(D) O (C)«(A)-(B)-(D)

Of Ml 7tX| SO A LIS £

DZAAL.

== 7 M MOf BCf.
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(Correct Answer)

Question No.25 (Question Id - 82)

Wz S0iZ 7Y Yte BE N2

(A)O
B) O
€O
(D) O
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Question No.26 (Question Id - 80)
HEE
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IZt (Correct Answer)
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Question No.27 (Question Id - 61)

uzio| 012 71 ¥%e Ag 1=

=2EXT

2 X749 (

(A)O
(B)O
©O
(D) O

HOo L (Correct Answer)
Eofof

Ho|Cht

HO|E=X]|

EMAIR.

Question No.28 (Question Id - 58)
ChEeS o0 o3 EMAR.

0 A2 EHE D
o

E 2t

At
i=]
o
o

It O
g

0
[N

(]

| b

(A) O
B)O
€O

D)O

Mo
uV
N

ot
roor rx

rz ok ot

N

[

P

of

7| (Correct Answer)




Case Study - 29 to 32 (Question Id - 97)

A O[EtE ==Lt d45 St/ OFEOITE SHARE (A) 2= 2AE OfFel T&7ket StHet:
Haee g 4 A7 MZ0| xtplo] ot Y=z e xHES| ot L) 926 & daE= fth d+E

AHMOl ZHSHA] BHOLM =2 CHE d82o=z Qe o|=sA] Al 2l UO|Ch OietA

47t 452 (B) 0|5 YI=otA| B & - Hoh= 20| S0ttt

Question No.29 (Question Id - 98)
(A) O S0{Z AAU2 AS D2HA.
(A) O ZE go| RUX|2t

o1 d
(B) O A olm QQk7zt mxICt

©)O FAYoz & S <t
(D) O 24x0|&= LISo|AM HO{E mfj7} 9L} (Correct Answer)

Question No.30 (Question Id - 99)
(B) 0O S0{Z U2 AS N=HAR.
(A)O B Azt

(B) O Zitaf shctod

(C)O TLx| o2 (Correct Answer)
(D) O ZLix| g=rhd

ST

Question No.31 (Question Id - 100)
22 S dZo| E A= HE 1E2HAR.

A E
(A) O MLE Ux| gbn HHESX| 22 280 StC}. (Correct Answer)
(B) O M2 ot@ Hrj of ElCt.

(€)O HEIH= M5 BIX| QheLt.

(D)O Mg gh=six| o oF St

Question No.32 (Question Id - 101)
CtS 3¢h5 0t 20|17t H|xgh S DEMA 2.
(A) O 7tz
(B) O x}3 (Correct Answer)
C)O =
(D) O st

—

Question No.33 (Question Id - 36)
(o] 3
=

CIS2 oln g2 B2 n2dA L.

Statement | : Et= 292 =1} L 2f|, X{O| Q= CHALR} O|OF7| 2 A =IC}.
Statement Il : Ef=2 AZIA|CH QI S0| B ESHALCT.

(A) O Both Statement I and Il are true.

(B) O Both Statement | and Il are false.

(C) O statement | is true, but Statement Il is false. (Correct Answer)
(D) O Statement Il is true, but Statement | is false.

Question No.34 (Question Id - 85)

CtE BE T FE22 X2 oXE D2HA 2.

(A O %
(B)O #
(C) O 4 (Correct Answer)
D) O 15




Question No.35 (Question Id - 21)
Chg THojo] 2ore Wl nEdAe.

(A) O Better-half

(B) O Upper class

(C) O North Korea

(D) O Violation (Correct Answer)

Question No.36 (Question Id - 71)

CtE 2E & f23 2|0|7} H|xot HE DEHA 2.

off & 882 £=20| 2 =2 ZASHO|ULCt.

(A) O 4 g3 (Correct Answer)
(B) O <&t &t

©)O L=z

(D) O L= chalof

Question No.37 (Question Id - 77)
2S94 YRS B2 n2MAL.

Statement | : St 0| A XY 2 FE F StLi= FMO|CH

Statement Il : =42 Q2 82 152U 2 =4 AFS|0A OjR =23t o|0|&

(A) O Both Statement | and Il are true.

(B) O Both Statement | and Il are false.

(C) O Statement | is true, but Statement Il is false. (Correct Answer)
(D) O statement Il is true, but Statement | is false.

Question No.38 (Question Id - 96)
CHe 5 YAl §FS HS DAL,

(A)PHEHE £20| 2ol 380 22 O
(B) el 2 UElel Bofzol Kol sish s o | HHEH
(@R T S Clo B AT 1y
)8 BEE 57 22 €8BI RO [y
(A) O (A)-(IV), (B)-(Ill), (C)-(I1), (D)~(I) (Correct Answer)

B) O (AMIV), I, (1), (D)}(1)

(©) O (AXI, (B, (CHI, (D}(V)

(©)O (A1), BX(), (CHIV), (D))

Question No.39 (Question Id - 52)

Chg WE Al BEo| Yate Mg AL

CHEO|AME 2 2=A St S M ZSH RS LI

(A) O Agreement for shoes

(B) O Verbal agreement (Correct Answer)
(C) O Memorandum of understanding

(D) O Agreement of cooperation

Question No.40 (Question Id - 62)

Ctg 2E & =23 o|0j7p H|Xet HE 1

[
o=
>
lo

Ot7[7F At21 AOIA MR| G4 Z=83| & ¢t = SO{ZtLt.

(A) O x| L=x|
(B) O nfx| &= 2 (Correct Answer)




(C)O Mx| &L
(D) O x| Y=z

Lo—

Question No.41 (Question Id - 81)
HiZhol S0{Z2 A2 HEN=2HA 2.

A)O N2
B)O wzz
€O

=
=
(D) O =9|2 (Correct Answer)

Question No.42 (Question Id - 8)
Rz SELEE0{Z SAIE 1E2MA L.

LbA| Z4L{OF BHCH,

[

. HORSE AYE RS
d I:||_||:|
o RS INEZ OIO|= HOre| =X &

(A) O x|uyct
(B) O gLyct
(C) O atm|c} (Correct Answer)
(D) O Lyz|ct

Question No.43 (Question Id - 42)

CtE2 FAof ot EF AL 72

E

Q=0 A XA E SFAIZ|7| 28l otLiet Ol0[ =2 2/=0f 2L

EOF 2| F0j| CtL| = OftS HEH3t= ZYLICH

(A) O 7cropss

(B) O =2to|ofht

(C) O 7|2{7| 0ttt} (Correct Answer)
(D) O =ofut

2 et=0

Question No.44 (Question Id - 24)
uIZHO| 01 71 YUS HE DEHAL.

F&Y H7H7H 19310 2 X F0 ( ) eLct.

(A) O
(B)O
€O
(D)O
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CH (Correct Answer)
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Question No.45 (Question Id - 59)

o
CHSS S0 ER2 ©HE n24A .

-

1930 HOj0 & &2 &HEF0| 12HA L.

(A) O Arl, D&k, 2.2 (Correct Answer)
(B) O FtefZ, UxL 2422 ¢

(C) O g, MEfX], HM T

(D)O =X, vjmez}ty|, =0

Question No.46 (Question Id - 11)
QIZho| S0iZ YL BE DENAL.

‘AMBEOIE o= HE ( ) YLICk.
(A) O =0
(B) O gt (Correct Answer)
(C)O g4l




(D)

OlAI-
=lc

Question No.47 (Question Id - 50)

Chgol Yore Mg DEMAL.

Financial institution

AO 2
B)O
€O
(D) O

8 7|2 (Correct Answer)
S| A Ak

S 2ASHAL
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Question No.48 (Question Id - 7)
CHS 52 0|7} ket AE DEHAM L.

XD A=

stopsict

(A)O
B)O
€O

(D) O

s}
CERY-
w2t

=0| 8t

)IC} (Correct Answer)

Question No.49 (Question Id - 68)

HIZH S01Z 7HY Y2 HE D2MUNL.
Ot ol 3 ( ) dEA HYE B 5 ULt

(A) O LojLtof (Correct Answer)

(B) O ofrtzixn

€)O oLt

DO YofLtEL

Question No.50 (Question Id - 78)
Hizto] S0{Z Y2 B©HS 12HAL.

( )OI EEMS SX K2 MO UE oMo S BN AT, e Me 2T Ny

shrt.

A O pMzoz

(B)O Mz

(C)O g%osM (Correct Answer)

D)O omosA

Question No.51 (Question Id - 33)

HIZH S0{Z A2 B©E NEMAR.

( )= SHEIFO0 22 M2 =37t nx M| A=l Ct.

(A) O =MArIBt
(B) O =z=rH
(C) O etz M3} (Correct Answer)
(D)O =ectMzt

Question No.52 (Question Id - 76)
S5 718 9 HES U DEAUN L.

A [E7IE | ) [t = M1 S
=%

B)[olz=Al | () | xIefzt

©)|2chzs () |UNAR A

(D)|ojzat  [(IV)] s S} AL

(A) O (A)-(), (B)-(1), (C)-(IV), (D)-(I11)
(B) O (A)-(li), (B)-(11), (C)-(1V), (D)-(I) (Correct Answer)




(C) O (AX-(IV), (B)-(IN), (C)-(lIn), (D)-(1)
(D) O (A)-(In), (B)-(1), (C)-(IN), (D)-(IV)

Question No.53 (Question Id - 43)
CHE StXtofe] ¢Bt2 S£2 NEMA 2.

FR

(A) O Coincidence

(B) O Yearly

(C) O Year-end (Correct Answer)
(D) O Throughout the year

Question No.54 (Question Id - 44)
CHg BiXiolol YL £8 DEYAL

Sy
N

RiE

(A) O Traffic (Correct Answer)
(B) O Uniform

(C) O Exchange

(D) O School

Question No.55 (Question Id - 22)
=239 gH2 'ﬂ% NEHAL.

TR S & A2 =FYLMN?
A) O stge

(B) O ZIA % (Correct Answer)
©) O #s¢

D) O =g

Question No.56 (Question Id - 92)
HiZiofl S0{Z LH2 E©E 1EHAR.

1920 ALY SHt7|o Z7HE0| ( )
At S #H3} A|7| DX} 2B}t

(A O "ol

B)O =g

(C) O AMaIx| (Correct Answer)
D) O s ol gls

Question No.57 (Question Id - 16)
ulzio] S0iZ YRS HE D2HAL.

=2XT=
E2 o= 7T ( ) L Ct.

(A) O =g}o} (Correct Answer)
B O M

(C)O =4

(D)O Qg

Question No.58 (Question Id - 45)
(ol X=3 -,:ﬂ.xl.o.lol otore L2 T2 AMA|Q.

EXT X2 i

(A) O Fly

(B) O Misconduct (Correct Answer)
(C) O Misfortune

(D) O Popular

Question No.59 (Question Id - 66)
HIZo| SOiZ 7hY o2 HE NEMAL.




e 7t 2880M STE ) 4ol LHE FEML)

(A) O 8tAHLt
(B) O #}=0| (Correct Answer)
(C) O &tmA
(D) O &Ex|

Question No.60 (Question Id - 54)
|:|.° 7|.x+ DF7-| 0174'61332 _,_EMMQ

S () Jojg=

(B) |&otg| M |lexz

C) | (1) foj A

(D) |24 W) lesx

(A) O (A)-(1), (B)-(IT), (C)-(IV), (D)-(lI)

(B) O (A)-(1), (B)-(I1), (C)-(IV), (D)-(1)

(C) O (A)-(IV), (B)-(IN), (C)-(1), (D)-(1)

(D) O (A)-(1), (B)-(IV), (C)-(II), (D)-(Ill) (Correct Answer)

Question No.61 (Question Id - 47)
CHE APXHYOQ] 2ore %8 DEMAL.

R AVE

(A) O Most difficult

(B) O Red-cross

(C) O The great majority of (Correct Answer)
(D) O Easiest

Question No.62 (Question Id - 39)
Uiz S0iZ Y2 HE A2YAL.

0|2 =0l EM 7 IS X THoF ZAE7| 7| 20] W27t 28L&

XS ote

Ffle=( ) 2f2 gL Ck.
A)O gz

B)O &£z

(C) O ZMZ=2| (Correct Answer)
(D) O o

Question No.63 (Question Id - 32)

RIZtof] SO{E L2 u%.T'_ HAlL.

HE=ut Y90 /AKX =A= ( ) ¢Hct.

A O &=z
(B) O HAal
C©)O #=

(D) O ME (Correct Answer)

Question No.64 (Question Id - 64)
128 2AMI2 27 jEs Hg D2 MAlL.

(A) O (B)-(C)-(A)- (D)
(B) © (B)-(D)-(C)-(A)
(C) O (C)-(B)-(A) - (D) (Correct Answer)




(D) O (C)-(D)-(B)-(A)

Question No.65 (Question Id - 38)
HIZho| S0{Z 71 Y2 BHE 124N 2.

SHEtE, BHEE, SYOMAIOF S0 =2 &
( ) Ol2tx gL ct.

(A) O 2Helg

(B) O Hx|=

(C) O $H31Z (Correct Answer)
(D) O =MH3F

rs
X

Question No.66 (Question Id - 18)
CHS StXjojo] L2 X2 NEMAR.

AH

(A) O Population (Correct Answer)
(B) O Entrance

(C) O Exit

(D) O Number

Question No.67 (Question Id - 23)

289 71 U2 HE 1EHAMR.

‘B4’ 0| SHAIF O
o —l /| 0O

g2 HOote FAYLI?
(A) O x}7] 74L& (Correct Answer)

B)O Aa¢
©)O xtv
(D) O oot

Question No.68 (Question Id - 2)
Hizto] S0{Z U2 B©HE 12HAL.

5ot A 0| &2 ( ) YLICH
(A) O oloizMpIZzZ
(B) O rystol=
©) O etzst=
(D) O =M9IFEZFo|Q10123} (Correct Answer)

Question No.69 (Question Id - 13)

CHS S 9n YL §2 D2UANL.

_—

Statement | : $HE 2 3= 9| ME 9| AH0|LCt.

Statement Il : St=2 7| 7| E0| =2 AE

(A) O Both Statement I and Il are true.
(B) O Both Statement | and Il are false.

mujn
o

(C) O sStatement | is true, but Statement Il is false. (Correct Answer)

(D) O Statement Il is true, but Statement | is false.

Question No.70 (Question Id - 3)
CHE 3 78 %Al dZs 242 12HA 2.

(A) 4 () X7
(B) =3 ) g
€ &g (I El
(D) k= (V) at

(A) O (A)X-(I), (B)-(1), (C)-(IV), (D)-(1N)
(B) O (A)-(ln), (B)-(IV), (C)-(), (D)-(IN)

(C) O (A)-(IV), (B)-(l), (C)-(Ill), (D)-(Il) (Correct Answer)




(D) O (A)-(In), (B)-(1), (C)-(In), (D)-(IV)

Question No.71 (Question Id - 69)
CtS WE &l HED} o|0|7} H|28H HE TEAMA|Q.

= T A= A2

M=2 L= EHof| M 2[0ff Rl R4S ¢ 74X| 2 LEREC.

(A) O o= o

(B) O o= Atojo

(C) O Lt = Hihofl (Correct Answer)
(DB) O L chAlof

Question No.72 (Question Id - 90)
HIZho S0{Z A2 BE DEMA .

HEOF HEO =2 501S 502t
2Ol Ot E S XM Zh = ( ) 2742
HZF 2tef 7|5t Lo =X e
1 =2 ©or 9 Hojz|.

(A) O olx|Lt

(B) O otex|

(C) O <0OfL} (Correct Answer)
D) O o=

Question No.73 (Question Id - 17)
HiZto] S0{Z U2 B©HE 12HAL.

ot=o| ot = ) LCt

A O =
(B) O gl (Correct Answer)
O =
D)O o

i

Question No.74 (Question Id - 30)
ulzhol| S0{Z 7hE Y2 Eg NEHA L.

oo K Y =2 A2 ( ) & LICt.
ISISRVEN
(B) O a2t (Correct Answer)
(C)O zz
0)O sory

Question No.75 (Question Id - 26)
HiZho| S0{Z 22 HE DEHAR.

slatof ZetE =7HE2 ( ) LICt.

A O g M
(B)O n=xM, sy, Al
C)O =AM

D)O 2n3e, &M, Azt

Question No.76 (Question Id - 93)
LSS =M ZE XA i ET XS n2HA L.

oy
o

(A)  7A=0| &[7| Hof ot g2 &

mjo
rr

c}.

o

(B) 12T ot A2 HOp EHO| =02 W7HK] &

mjo
ijld
rr
o

(C) = CiSe Zg2 68 PE AXEL.




(D) QUOEAS A2 LILEA 0[S K22 HHChE HLiCt,

(A) O (A)-(B)-(C)-(D)
(B) O (C)-(A)-(D)-(B) (Correct Answer)
(C) O (D)-(C)-(B)-(A)
(D) O (B)-(D)-(A)-(C)

Question No.77 (Question Id - 67)
ClS UE Xl 229} o|0|7} H|28H ZHE N2 AA|L.

= T i AL XK L —H=

HTAEO| E8{es Z EU H|7I=2 Z0|C}.
(A) O @7|% stot
(B) O g5t ZC} (Correct Answer)
(C)O =27t gict
(D) O 2xo| gict

Question No.78 (Question Id - 12)
HIZho| S0{Z L2 HE DEHAR.

Tte'&= o2 M ( ) YLCt.
(A) O %}2 oA = of| 8 (Correct Answer)
B)O = 23}
(C©)O wmz
D)O z&

Question No.79 (Question Id - 1)

CHg EHOjo] Yte £ N2NAL.

o

Hhz

(A) O East Asia

(B) O Korean Peninsula (Correct Answer)
(C) O Korea Trait

(D) O Han-ban Province

Question No.80 (Question Id - 41)
RiZiof S0{Z U2 B©HE NEHAL.

L}O|7} BES ©|7Lo| H|- 20| &= OFX|= i AL 2l st|C
S = F=3 o =

A) O =3t

(B) O L3} (Correct Answer)
C)O L=xt

D) O LA

Question No.81 (Question Id - 20)
CHg THofo| Yte HAg DEMAL.

[ ]

43

(A) O Edible

(B) O Addiction

(C) O Achievement (Correct Answer)
(D) O Sexual harassment

Question No.82 (Question Id - 73)
Cheg olx YiZo S0{Z L8O 71% Yue

k=2

=
A S 2 Ciedel 4o 2EYAE =Lt E5| AF7F B 24
oF QIZFEA 2R Aol S[ALOM AEZ|AS BEO| BRH=C OB 7|2
Y 0 go 32 ( ) 2EYAS O #E A2 HOtEtt 1 0]
£ 0180| == ZhAret FOH0f Tieh £ & 0| 03] 27| I=0|
Ct.




A O 3|AoIM TS

(B) O 3|Atof MLt Eo Y2 uf (Correct Answer)

©)O =xs 427t Fo|HES 1

X
D) O oiztA o ofzigS =2

Question No.83 (Question Id - 15)
RiZiofl SE0{Z 71 YR2 HE 12HA 2.

ool ey gt gXl= 222l (

(A) O g=asior

(B) O ofotst

(C) O It (Correct Answer)
(D) O 247t

) Ol M H| Z | ATt

Question No.84 (Question Id - 56)

Wz S0iZ Y2 B2 DEHAL.

ot= ZoA|Of 27tS0| =AM Z A L2Y T MO W2t oL =t We

282 Let o ( ) 2L,
(A) O ¥} (Correct Answer)

(B) O Etmt

(C)O =H
DO)O mm

Question No.85 (Question Id - 31)
RIZiof S0{Z L2 O3S 1EHAR.

Axlof) 2 4 3

rir

Cht 7RI2] M2

) elict.

(A)O M, T2 S wohT oatsy

(B) O waph, ZhAY, BIA, Z5HA I} TH4AY

(C)O mE2u, B2, 2, 343} H2M (Correct Answer)

DO EZM, £BM, SN, & 24D} T2k

Question No.86 (Question Id - 91)
HIZh S0{Z L2 B©E NEMAR.

( ) Ol= EBHME =2 20| LIEFHCE O|A|7]2] 23X de 7t a2 2ot

A2 HE, HaL, 353} 22248 USE7E A & A0|ULCL

(A) O =M H7|

(B) O =M &7| (Correct Answer)
C)O ox Z™7|

(D)O Ay AH=7|

Question No.87 (Question Id - 34)

CtS2 Fofl cist F UL nt?

5000 B 0| AFRLIOIA e Za]

18

(A) O

2=
(B) O m=!ut (Correct Answer)
(C)O uyut
(D)O weyyt

Question No.88 (Question Id - 84)
ChE ARG 0ol 2 X2 N2HA L.

R=20Y
(A) O Great people

(B) O Superior
(C) O Diligent people




(D) O Ordinary people (Correct Answer)

Question No.89 (Question Id - 88)
Che UE & BE0| 7hy YU Mg N2 AL,

= T =

Kim Dae-Joong started the Sunshine Policy.

(A) O slitd X*H (Correct Answer)
(B) O sl =
(C)O EfQY &t
D)O A= =

Question No.90 (Question Id - 89)
S 5 78 %Al s 242 D2HA 2.

(A) |23} () {Independence
ol
(B) EEHX“*' (11 Icolony
(C)|Alalx| (lM||Period of Japanese Rule
D)=zl (IV)[Democratization

(A) O (A)-(1V), (B)-(lI1), (C)-(I1), (D)~(I) (Correct Answer)
(B) O (a)-an), (B)-(), (C)-(Iv), (D)-(1I)

(C) O (A)(II), (B)-(), (C)-(IV), (D)-(1)
OO ()1, B)-(), (C)-(I1), (D)-(IV)

Question No.91 (Question Id - 60)
CHeS on YL §2 D2UAL.
LHRHO| FABL ) Yuc.
(A) O %M

(B) O o]&HAl (Correct Answer)
(C)O olsh=
(D)O zZAx|

Question No.92 (Question Id - 27)

Rizho] S0{Z2 22 HE DEMAR.

191940 Zofit KO ZYR2F2 ( JRILIE

Ho

(A) O 4.
(B) O 3.
(C)O Ajot
DO «

Question No.93 (Question Id - 53)
ChE 5 71 %A dZTH A4S 12HA 2.

DI R E
B)[gxg | mex

CICrEI [ TEEE
DIEREI

(A) O (A1), (B)-(IN), (C)-(1V), (D)-(1II)
B) O (A)-(1n), (B)-(1), (C)-(IV), (D)-(Il) (Correct Answer)
(C) O (A)X(IV), (B)-(IN), (C)-(1), (D)~(I)
(D) © (A)-(lm), (B)-(1), (C)-(I1), (D)-(IV)

Question No.94 (Question Id - 75)




n
ojo
1jo
no
|
ne
g
rlo
i}
1jo
|
[
2
>
lo

e 5 B SEQ AS 12HAL
(A) O Z&g} (Correct Answer)
B)O a=
(C)O mAg
(D) O iy =

Question No.95 (Question Id - 70)

fIZHo| S0{Z 718 EH2 WS n2HA L.

O{M= =1 20| HHE( ) HEE2 = A 2H0j ZiCt
(A) O gex|
(B) O =Lt
(C) O ™LA (Correct Answer)
D)O oicpeEd

Question No.96 (Question Id - 95)

Cheg #MOI2 U HEE He D2 4N L.
(A)  OIFISE Q17 M2 BO| 9= AT BS BO| Y| Y7} CHEN} SHe M2t S|
2 olct

C
|
opY
_I'_l_
k1
1=
mjo
o2
2
r|r

Z40| L} CH= Z40]| OfL|C}.

(A) O (C)-(A)-(D)-(B) (Correct Answer)
(B) O (A)-(B)-(C)-(D)
(C) O (DC)-(B)-(A)
(D) O (B)-(D)-(A)-(C)

Question No.97 (Question Id - 9)
EII_|?_|-0“ %017I- [e] =] X=1 7-|<> EAI*IQ

(A) Ot FZo= R2AS & A7IR?

(B) AlEO| AL L E ( )2 Holg.
A O gy

(B) O grLty

(©)O =9

(D) O ®|?{ (Correct Answer)

Question No.98 (Question Id - 87)
ChE2o| Y2 HAS NEMA .

oIy ol

—

rlo

ofd=

mjo

2iChetet.

—

(A) O The landlord leases this building. (Correct Answer)
(B) O The tenant rents this building.

(C) O The tenant buys this building.

(D) O The boss takes over the building

Question No.99 (Question Id - 86)
Cl2 U= Xl BRo| atole SiXIE TTEAMA|L.

HE
=]

of

=

A O =
(B) O B (Correct Answer)




©O0 %
DO g

Question No.100 (Question Id - 4)
CtE 3 20|17} BiciQl WS D2MA L.

=0[Cf

(A) O 3L} (Correct Answer)
(B) O gatztct

(C)O 3|t

(D) O =38\t




